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Mathématiques

NOM Prénom

Exercicel (4 points)
Calculer et simplifier :

1) 3W2—-7+9V2—-12=12v2-19
2) -2(2-V5)+4+8(5-7)=—4+2V5+4+8V5—56 =10V5-56
3) 3=V7)(2V7 —4) = 6V7 — 12 — 14 + 47 = 107 — 26

Exercice2 (6 points)

Développer et réduire :

1) (x—4)?2*=x*-8x+16

2) (7—x)? =49 — 14x + x*

3) (B8+3x)(8—3x) = 64 — 9x?

4) 2(3x—-5)2—-7(x—2)?=18x% —60x + 50 — 7x* + 28x — 28 =

11x2% — 32x + 22

5 (2x —\/3)2 =4x%? — 4xV5+5
Exercice 3 (6 points)
Factoriser :

1) (x+8)?—-7x+8)=x+8)(x+8-7)=(x+8)(x+1)
2) (2x—1)?2—-(4x+3)?=02x—1-4x-3)2x—1+4x+3) =

(—2x —4)(6x + 2)

3) x2—12x+36—-(x—6)2x—8)=(x—6)> —(x—6)(2x — 8) =
(x—6)(x—6—-2x+8)=(x—6)(—x+2)

Exercice 4 (4 points)
1) Simplifier :
B x—5 _3(2x+8)—x+5_6x+24—x+5_5x+29
2x + 8 2x + 8 2x + 8 2x + 8
2) Reésoudre :

x—8 7
3x+8 3
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